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355x265

940.75

BT for sight of 35.5 or 26.5 or 35.4999(..) or
26.4999(...)
MI for UB length x UB width where

35.49 < UB length < 35.5

26.49 < UB width < 26.5

A1 for 940.74 - 940.75 (or 374& )
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21 (a) 28.5 B1 for 28.5 or 2850 cm or 28.499 or 28.49... or 28.49
recurring oe
®) | 2x(1475+28.5) 352 B1 for upper bound of length = 147.5 or 14750 cm or

147.49 recurring oe

M1 for 2 x (“upper bound width” + “upper bound
length”) where these are not the given values.
A1 cao 351.999-352
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Bl for one of 145, 135,875, 8.65

M for "vyg" — "ug"
where 14 < "vyg" < 14.5and 8.65 < "uyp" <87
Al for 29.25 from correct working
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Mi for 435+ ——
033

Al 71(«»721«% from a correct method seen
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MI for 232.5 0r 237.5 or 197.5(=3.29... hours) or 202.5 (= 3.375
hours)

MI for correct conversion of “upper bound of time” from minutes to
hours, (202.5 10 205) + 60

MI for “lower bound of distance” + “upper bound of time”
(23010 232.5) + (3375 10 3.41(6...))

Al for 68.8 t0 69 from correct working

OR

MI for232.5 0r 237.5 or 197.5(=3.29.... hours) or 202.5 (=3.375
hours)

MI for “lower bound of distance” + “upper bound of time”
(23010 232.5) + (202.5 10 205)

MI for correct conversion of “lower bound of speed” from miles per
minute to miles per hour, ((1.12(1... to 1.14(8...) * 60

Al for 68.8 t0 69 from correct working
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d UB =545 (or 54.499), LB=
535

C: UB= 1705 (or 170.499), LB=
169.5

1705535

169.5 + 54.5

319
EXTH

BI for any one correct bound quoted
MI for 170.5 = 535 0r 169.5 + 54.5

Al for UB = answer in range 3.18 to 3.19 from correct
working

Al for LB =3.11.. from correct working
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BI for 642.5 or 647.5 or 397.5 or 402.5 seen
MI for Iy * Wy where

642.5 <, < 645 and 397.5 < wys < 400

Al for 255393.75 or 255 000 coming from 255393.75 or

from correct method
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LBof218 = 2175
UBof 126 =12.65
217.5+ 1265 = 17.1936...

17.1936....

Bl for217.5 or 12.65 or 12649 seen
M for LBof2I8 = UBof 12.6 where
217.5<LB<218and 126 <UB < 12.65
Al 17.09-172





